

First Myanmar Investment Public Co., Ltd. (FMI)

Update News

Record Date Announcement

FMI announced 11 October 2024 as "Record Date" for the purpose of determining the voting and attendance entitlement of shareholders at the forthcoming 33rd Annual General Meeting.

33rd Annual General Meeting Announcement

FMI will hold its 33rd Annual General Meeting online on 9 November 2024, at 10:00 AM.

Market Summary

In October 2024, FMI's share price ranged between 8300 kyats and 8800 kyats. This range marks a slight fall from the previous month, when prices were between 8700 kyats and 9,000 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a fall this month. The total trading volume reached 6,500 shares with a trading value of 55,465,100 kyats.

	Sept 2024	Oct 2024
Lowest Price	8,700	8,300
Highest Price	9,000	8,800
Trading Volume	10,092	6,500
Trading Value	89,150,800	55,465,100

Myanmar Thilawa SEZ Holdings Public Co. Ltd. (MTSH)

Market Summary

In October 2024, MTSH's share price ranged between 3250 kyats and 3500 kyats. This range marks a slight fluctuation from the previous month, when prices were between 3400 kyats and 3500 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a significant fall this

	Sept 2024	Oct 2024
Lowest Price	3,400	3,250
Highest Price	3,500	3,500
Trading Volume	71,883	54,887
Trading Value	247,162,950	183,551,550

month. The total trading volume reached 54,887 shares with a trading value of 183,551,550 kyats.

Myanmar Citizens Bank Ltd. (MCB)

Update News

Resolutions passed at 32nd Annual General Meeting

MCB held its 32nd Annual General Meeting online on 5 October 2024. During the meeting, shareholders approved financial statements, the director's report, and external auditor report, appointment of external auditor and the re-election and appointment of directors.



Market Summary

In October 2024, MCB's share price ranged between 8400 kyats and 9000 kyats. This range marks a fall from the previous month, when prices were between 8600 kyats and 9200 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a slight rise this month. The total trading volume reached 557 shares with a trading value of 4,739,100 kyats.

	Sept 2024	Oct 2024
Lowest Price	8,600	8,400
Highest Price	9,200	9,000
Trading Volume	507	557
Trading Value	4,481,000	4,739,100

First Private Bank Ltd. (FPB)

Update News

33rd Annual General Meeting Announcement

FPB will hold its 33rd Annual General Meeting online on 22 December 2024, at 09:00 AM via zoom.

Shareholder Announcement

FPB will hold its 33rd Annual General Meeting (AGM) on 22 December 2024. In accordance with Section 97 of the company's constitution, certain directors are scheduled to retire at this meeting. Eligible shareholders are invited to nominate candidates for director positions, allowing them to propose and vote for new directors to succeed the retiring members during the AGM.

Market Summary

In October 2024, FPB's share price ranged between 1800 kyats and 2100 kyats. This range marks an increase from the previous month, when prices were between 1750 kyats and 1950 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a significant fall this

	Sept 2024	Oct 2024
Lowest Price	1,750	1,800
Highest Price	1,950	2,100
Trading Volume	255,623	51,317
Trading Value	466,038,350	99,649,800

month. The total trading volume reached 51,317 shares with a trading value of 99,649,800 kyats.



TMH Telecom Public Co., Ltd. (TMH)

Market Summary

In October 2024, TMH's share price ranged between 2500 kyats and 2900 kyats. This range marks slight fall from the previous month, when prices were between 2700 kyats and 2950 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a significant fall this month. The total trading volume reached 3,691 shares with a trading value of 9,935,550 kyats.

	Sept 2024	Oct 2024
Lowest Price	2,700	2,500
Highest Price	2,950	2,900
Trading Volume	5,850	3,691
Trading Value	16,369,100	9,935,550

Ever Flow River Group Public Co., Ltd. (EFR)

Market Summary

In October 2024, EFR's share price ranged between 1650 kyats and 1750 kyats. This range marks a slight fluctuation from the previous month, when prices were between 1700 kyats and 1750 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a fall this month. The total

	Sept 2024	Oct 2024
Lowest Price	1,700	1,650
Highest Price	1,750	1,750
Trading Volume	20,235	16,091
Trading Value	34,506,450	27,039,200

trading volume reached 16,091 shares with a trading value of 27,039,200 kyats.

Amata Holding Public Co., Ltd. (AMATA)

Market Summary

In October 2024, AMATA's share price ranged between 4300 kyats and 4500 kyats. This range marks a fall from the previous month, when prices were between 4400 kyats and 4700 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced an increase this month. The total trading volume reached 2,444 shares with a trading value of 10,804,100 kyats.

	Sept 2024	Oct 2024
Lowest Price	4,400	4,300
Highest Price	4,700	4,500
Trading Volume	1,891	2,444
Trading Value	8,502,600	10,804,100



Myanmar Agro Exchange Public Co., Ltd. (MAEX)

Market Summary

In October 2024, MAEX's share price ranged between 3200 kyats and 3500 kyats. This range marks a slight rise from the previous month, when prices were between 3300 kyats and 3450 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a significant rise this

	Sept 2024	Oct 2024
Lowest Price	3,300	3,200
Highest Price	3,450	3,500
Trading Volume	16,205	40,169
Trading Value	54,547,850	136,743,650

month. The total trading volume reached 40,169 shares with a trading value of 136,743,650 kyats.

Myanma Agricultural & General Development Public Co., Ltd (MADPL)

Update News

Invitation of Special General Meeting and the 11th Annual General Meeting

MADPL will hold its Special General Meeting and 11th Annual General Meeting online on 10 November 2024, at 02:00 PM via zoom.

Release of Five-Year Action Plan and Policies for Main Board Listing

MADPL has released a Five-Year Action Plan for its Main Board listing, announcing that it already meets 11 of the required listing criteria. The company also outlined its ongoing preparations to fulfill the remaining 6 criteria necessary for listing.

Release of Annual Report for FY 2023-24

In FY 2023-24, MADPL reported revenue of 4.4 billion kyats making a decrease of 9.6% and net gross profit of 37.7 million kyats, marking a significant decline of 89.5%, compared to the previous year. The company reported a net profit of 349.1 million kyats, reflecting a 32.3% decrease from the previous year. For FY 2023-24, MADPL's earnings per share (EPS) is 347 kyats.

Market Summary

In October 2024, MADPL's share price ranged between 35,000 kyats and 36,500 kyats. This range marks a slight fall from the previous month, when prices were between 32,000 kyats and 37,000 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a significant fall this

	Sept 2024	Oct 2024
Lowest Price	32,000	35,000
Highest Price	37,000	36,500
Trading Volume	874	8
Trading Value	32,046,000	280,000

month. The total trading volume reached 8 shares with a trading value of 280,000 kyats.



Changes In Daily Return

%	Change or	Daily Retu	ırn (FMI)						
Date	0	U:-L	Low	Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	8,500	8,500	8,500	8,500	495	4,207,500	33,109,694	281,432	
23-Oct-24	8,500	8,500	8,500	8,500	96	816,000	33,109,694	281,432	O96
24-Oct-24	8,400	8,500	8,400	8,500	91	764,500	33,109,694	281,432	O96
25-Oct-24	8,400	8,500	8,400	8,500	346	2,906,700	33,109,694	281,432	O96
28-Oct-24	8,400	8,400	8,400	8,400	450	3,780,000	33,109,694	278,121	-196
29-Oct-24	8,400	8,500	8,300	8,500	230	1,919,300	33,109,694	281,432	196
30-Oct-24	8,400	8,400	8,400	8,400	401	3,368,400	33,109,694	278,121	-196
31-Oct-24	8,400	8,400	8,400	8,400	173	1,453,200	33,109,694	278,121	096

%C	hange or l	Daily Retu	rn (MTSH)						
Date	0	U:-L	Low	Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	ciose	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	3,400	3,400	3,350	3,350	343	1,151,700	38,929,150	130,413	
23-Oct-24	3,350	3,350	3,300	3,300	2,150	7,102,000	38,929,150	128,466	-196
24-Oct-24	3,350	3,400	3,300	3,400	240	794,500	38,929,150	132,359	3%
25-Oct-24	3,350	3,400	3,300	3,400	56	185,350	38,929,150	132,359	O96
28-Oct-24	3,350	3,350	3,350	3,350	291	974,850	38,929,150	130,413	-196
29-Oct-24	3,300	3,300	3,250	3,300	1,329	4,335,700	38,929,150	128,466	-196
30-Oct-24	3,300	3,300	3,250	3,300	4,477	14,712,700	38,929,150	128,466	096
31-Oct-24	3,300	3,300	3,300	3,300	5,240	17,292,000	38,929,150	128,466	O96

%(Change or	Daily Retu	rn (MCB)	1					
	0			61	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	8,400	8,400	8,400	8,400	0	0	10,400,986	87,368	
23-Oct-24	8,500	8,500	8,500	8,500	3	25,500	10,400,986	88,408	196
24-Oct-24	8,500	8,500	8,500	8,500	0	0	10,400,986	88,408	096
25-Oct-24	8,400	8,400	8,400	8,400	7	58,800	10,400,986	87,368	-1%
28-Oct-24	8,400	8,400	8,400	8,400	37	310,800	10,400,986	87,368	O96
29-Oct-24	8,400	8,400	8,400	8,400	93	781,200	10,400,986	87,368	O96
30-Oct-24	8,400	8,400	8,400	8,400	83	697,200	10,400,986	87,368	096
31-Oct-24	8,400	8,400	8,400	8,400	59	495,600	10,400,986	87,368	O96



%	Change or	Daily Retu	ırn (FPB)						
Date	Open	High	Low	Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	орен	rigii	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	2,000	2,000	2,000	2,000	2,199	4,398,000	29,664,613	59,329	
23-Oct-24	2,000	2,100	2,000	2,100	1,752	3,669,400	29,664,613	62,296	5%
24-Oct-24	2,100	2,100	2,000	2,050	82	169,650	29,664,613	60,813	-296
25-Oct-24	2,000	2,050	2,000	2,050	919	1,879,700	29,664,613	60,813	O96
28-Oct-24	2,100	2,100	2,050	2,050	172	361,100	29,664,613	60,813	O96
29-Oct-24	2,000	2,000	2,000	2,000	1,292	2,584,000	29,664,613	59,329	-296
30-Oct-24	2,000	2,000	1,950	1,950	519	1,019,250	29,664,613	57,846	-2%
31-Oct-24	1,950	1,950	1,950	1,950	100	195,000	29,664,613	57,846	O96

%(Change or	Daily Retu	ırn (TMH)						
2-1-	0	115-1		61	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	2,700	2,800	2,700	2,800	218	608,800	12,823,224	35,905	
23-Oct-24	2,800	2,800	2,800	2,800	65	182,000	12,823,224	35,905	096
24-Oct-24	2,800	2,800	2,800	2,800	0	0	12,823,224	35,905	096
25-Oct-24	2,800	2,850	2,800	2,850	130	369,000	12,823,224	36,546	2%
28-Oct-24	2,850	2,850	2,850	2,850	0	0	12,823,224	36,546	096
29-Oct-24	2,800	2,850	2,800	2,850	109	310,200	12,823,224	36,546	096
30-Oct-24	2,850	2,850	2,850	2,850	20	57,000	12,823,224	36,546	O96
31-Oct-24	2,850	2,850	2,850	2,850	0	0	12,823,224	36,546	096

%	Change or	Daily Retu	ırn (EFR)						
Date	Open	High	Low	Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	підп	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	1,700	1,700	1,650	1,700	718	1,190,600	19,977,223	33,961	
23-Oct-24	1,700	1,700	1,650	1,700	1,325	2,225,000	19,977,223	33,961	096
24-Oct-24	1,700	1,700	1,650	1,700	1,011	1,693,700	19,977,223	33,961	096
25-Oct-24	1,700	1,700	1,700	1,700	825	1,402,500	19,977,223	33,961	096
28-Oct-24	1,700	1,700	1,650	1,700	469	782,300	19,977,223	33,961	096
29-Oct-24	1,700	1,700	1,650	1,650	707	1,176,550	19,977,223	32,962	-3%
30-Oct-24	1,700	1,700	1,650	1,700	1,920	3,169,050	19,977,223	33,961	3%
31-Oct-24	1,650	1,650	1,650	1,650	700	1,155,000	19,977,223	32,962	-3%



%Cl	hange or D	aily Return	n (AMATA	()					
					Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	4,400	4,400	4,400	4,400	600	2,640,000	10,497,598	46,189	
23-Oct-24	4,400	4,400	4,400	4,400	7	30,800	10,497,598	46,189	O96
24-Oct-24	4,300	4,400	4,300	4,400	42	181,000	10,497,598	46,189	O96
25-Oct-24	4,300	4,300	4,300	4,300	25	107,500	10,497,598	45,140	-296
28-Oct-24	4,500	4,500	4,500	4,500	5	22,500	10,497,598	47,239	596
29-Oct-24	4,400	4,500	4,400	4,500	38	167,400	10,497,598	47,239	O96
30-Oct-24	4,500	4,500	4,500	4,500	0	0	10,497,598	47,239	O96
31-Oct-24	4,500	4,500	4,500	4,500	230	1,035,000	10,497,598	47,239	O96

%C	hange or l	Daily Retur	n (MAEX)						
D	0	115-4		61	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	3,350	3,400	3,350	3,400	1,201	4,023,400	23,804,946	80,937	
23-Oct-24	3,350	3,400	3,350	3,400	615	2,090,250	23,804,946	80,937	O96
24-Oct-24	3,350	3,350	3,350	3,350	1,060	3,551,000	23,804,946	79,747	-1%
25-Oct-24	3,400	3,400	3,350	3,350	945	3,165,850	23,804,946	79,747	O96
28-Oct-24	3,350	3,350	3,300	3,300	873	2,919,600	23,804,946	78,556	-1%
29-Oct-24	3,300	3,300	3,300	3,300	741	2,445,300	23,804,946	78,556	O96
30-Oct-24	3,300	3,300	3,250	3,300	1,277	4,194,100	23,804,946	78,556	O96
31-Oct-24	3,250	3,300	3,200	3,250	882	2,886,300	23,804,946	77,366	-296

%C	hange or I	Daily Retur	n (MADPI	_)					
Data	_				Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
22-Oct-24	35,000	35,000	35,000	35,000	6	210,000	1,006,035	35,211	
23-Oct-24	35,000	35,000	35,000	35,000	0	0	1,006,035	35,211	096
24-Oct-24	35,000	35,000	35,000	35,000	1	35,000	1,006,035	35,211	O96
25-Oct-24	35,000	35,000	35,000	35,000	0	0	1,006,035	35,211	O96
28-Oct-24	35,000	35,000	35,000	35,000	0	0	1,006,035	35,211	O96
29-Oct-24	35,000	35,000	35,000	35,000	0	0	1,006,035	35,211	O96
30-Oct-24	35,000	35,000	35,000	35,000	0	0	1,006,035	35,211	096
31-Oct-24	35,000	35,000	35,000	35,000	0	0	1,006,035	35,211	O96